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���� &RPSRVLWLRQ

7KH (PSOR\HH 5HODWLRQV DQG 3HQVLRQV &RPPLWWHH VKDOO EH FRPSULVHG RI WKH &KDLU
DQG 9LFH &KDLU RI WKH %RDUG� WKH 3UHVLGHQW� DW OHDVW WZR PHPEHUV RI WKH %RDUG
DSSRLQWHG XQGHU HLWKHU 6HFWLRQ������E� RU �J� RI WKH 7RURQWR 0HWURSROLWDQ
8QLYHUVLW\ $FW� RQH PHPEHU RI WKH %RDUG ZKR LV D PHPEHU RI WKH $OXPQL� RQH
PHPEHU RI WKH %RDUG ZKR LV D PHPEHU RI WKH 7HDFKLQJ )DFXOW\� RQH PHPEHU RI
WKH %RDUG ZKR LV D PHPEHU RI WKH $GPLQLVWUDWLYH 6WDII DQG RQH PHPEHU RI WKH
%RDUG�ZKR�LV�D�6WXGHQW�

���� &KDLU�DQG�9LFH�&KDLU

7KH %RDUG VKDOO VHOHFW WKH %RDUG PHPEHUV WR VHUYH DV FKDLU DQG YLFH FKDLU RI WKH
(PSOR\HH 5HODWLRQV DQG 3HQVLRQV &RPPLWWHH LQ WKH PDQQHU FRQWHPSODWHG E\
6HFWLRQ ����� SURYLGHG WKDW WKH 3UHVLGHQW VKDOO QRW EH HOLJLEOH WR VHUYH LQ HLWKHU
FDSDFLW\�

���� 0DQGDWH

7KH (PSOR\HH 5HODWLRQV DQG 3HQVLRQV &RPPLWWHH VKDOO UHYLHZ DQG� IURP WLPH WR
WLPH� UHFRPPHQG FKDQJHV DQG LPSURYHPHQWV LQ WKH 5HWLUHPHQW 3HQVLRQ 3ODQ RU
PDNH DQ\ GHFLVLRQ RU WDNH DQ\ DFWLRQ UHODWHG WR WKH 3ODQ DV KDV EHHQ VR GHOHJDWHG
WR WKDW &RPPLWWHH E\ UHVROXWLRQ RI WKH %RDUG� DQG VKDOO FRQVLGHU DQG PDNH
UHFRPPHQGDWLRQV WR WKH %RDUG RQ DOO PDWWHUV UHVSHFWLQJ HPSOR\HH UHODWLRQV
H[FHSW�QHJRWLDWLRQV�




